EARAROBEEIERT — 2 N— IBISH —F

20195F4A3H (K) 1H£R3A

B sxssex<AcbER L B3 A1 V5%

EZS

jin

8 ‘ (sl — | 4 (A) 15000 KB

[AE<%] 1 7% :1,100,000 § 2 j&:253,000 F 3 #&:132,000 4

4 7% 199,000 @ ~ 5 7&:66,000 A

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. b= EERE :36. -3-3- 0| - R (2iR)
i 3 RIS TIA K 49 = 1(3_6)5 3-3-3-1 | 40.0 3 ?;7 mg%g
R:O-I>FUL Biv—sbkviay RS 3 EERRR b Y Y a K
A BLRT .36, 44 . — &% (2R
5 4 fytEA1F44 47 &0 1(326)9 4-4-4-2 | 40.1 4 (5_05) b
L:F7—3IUT> BiRyhAFLTAT =k R
I 4 5 | RFTR 1:37.7 1-1-2-4 | 41.6| — 2 476 | RIIHEZ (£R)
315|5 Y<v3IZLX A51.0 @ © IITER
LN=V774 B:xI14 X #HE B
5 SR s hBEEH :38. -1-1- . — £H—8 (£R)
dlillzoveEyy o4 | DR A B U o
LY IRG4IS5R B:Av— hEZIL ETR OHE
N t 5 | MEB 1:38.7 5-5-5-5 | 41.1| — 5 504 | $HARR (£R)
5 o | AVIANT /T F g 56.0 @) 4s) | @R Zr—xtEVar
R:YZRE—3IZRE— By > T-SyT i E=k
® I—F—@EBIERL
13=3r= (1,5),3,4,2
23—+ — (1,5),3,4,2
3a—+— 1,5,3,4,2
AT =gr= 3,4,1,5,2
[ N5
-y 3 460M | | 71 K 3-4 480 | | B = 3-4 2,520 | | 3:E& 3-4-5 1,570
# B 3 200M Bab 250 B H 3-4 5,610M EE 3-4-5 13,950
4 810/ 4-5 340M

ABICOVWTRDTEEERROODE. TR LIV,




